LICATION)
PAPER - 11 (COMPUTER SCIENCE AND APP

The I/0 methods in which m
A Isolated I/0

distinct, is cqp.
51. emory addresses and 1/O addresses are P

B.  Memory-Mapped 1/O i)
C. Strobe Contro} D.  Handsjaking i
E. Interrupt
Choose the

most 3

PPropriate answer from the Opﬁmvm Vs :{4 B, E Only
M AB Only (). C.h Only @) C E Only /

~
52, Match List - | with Lisg . 11 g ld &

List - | List-11~ e

Boolean Expression Dual of Boolean Expression
YHy A x:(y +0) L @E+opF-2) 3 9z
Mo S

B. .r-l+(_y+z) 11 oAt b bt SR / 1 i

) C FGeo) M. %+71 m
ik

5

i \\ﬁ'D D. r1+(y+%) LN
V-

(x+0M(y - 2 ')O"Iﬂ'z-—
Be s Choosethecunectamwerfrommeophonsgivenbem* WEs
B e B-IV, C-II, D] 0 AL h«?

W AL BLCm DY @ sl

53.  Which of the following i

Y Type conve

(3) Loop optimiz

@, zissetofin
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56. The techniques used to handle the phantom problem are e LI P
A. Time stamping B.  Index locking < W‘Dm

" D.  Executiog.index;
& Predicate locking log-indexing M
by nd

Choose the correct answer from the options given hﬂ.!(ml :

A1) A and B Only \./&T Bandé:a.hly L’“a'o"d' MW’

gai A and D Only (4) Cand iii:én]y H"-ﬂg do visb Cade .o
~ Cormmon dots e,
57. Techniques for performing I/O PRy
«A.  Programmed 1/O «B.  Interrupt-driven 1/0
C. Rotational I/O D. Direct Memory access

E. Channelized 1/O
Choose the correct answer from the options given below -

(1) A and C Only 27 A, B ardiD Only
(3) A, DandE Only (4) Band
ST
58. Arrangethefallowhgﬁ'onﬂasbesthslﬂwestlnspea\) :

s © | CFU Registers

cPUDSRHIMD 08A MDD
HAd > Megneh ¢ Taps

59,

a positive two digits integer
2 chair could be labelled in this

@) 2366




61.. The output of the fullowing C#+ Program 18 :

x
#include <stdio.h> = "(Q )
int main (void) i gn
( n ik g? z
1 ! i.['lt X, tp’.
X =30, O-)
Pat de po.d g
Print f (“%d”, ). N
return (; ~
’ o7 r (g Em
s 0
(1 30 (2)  value of x (3) addres

62. For the fuzzy sets A = {(x;, 0.3), (X3 0.7), (x5, 0.4)} and “;'nbe :
B= {(x‘l' O'S)r (1'2, 02}-’ (13, 0'5)}' the A8 wou]:l 0-5)} :
O 106009, (307, (1, 0y @) (@, 05), (5 02) (3

4
G) {(xy, 05), (), 07), ,, 0.5)] \.%ﬁxp 0.3), (%2 0.2) (x5 04)}
(@)

63. The Ca.rdjnalityofafuzzysetis:

1 o 2 finite (3 infinite U s
64 Anamb:guousgrammarismwwhmhhaN ‘&(

A.  More than one derivations = X

; AN s | 7 .
B. . More ﬂ'laP one lg.ft most derivations jo W ki
C.  More than one right most deriv. tions,




() An JPv4 packet has arrived with the first few hexad data g;l%l: atsn ha S
hops can this packet travel before being dropped ? The da & 0 what upper-layer protocol?

(54000018001001100406071...---- he
(1) Olhops, TCP (2) 02tgps, UDP (3) 03 hops ICMP (4) 4 hops, TCP
N
67. The sequence of fields is an lP ‘;ﬁkrﬂm will be :
A. flags g options C. Protocol

D. [Identification IR Service type

Choose the Correct answer from

options given below :
M EJReA, o(p M) D,ABCE
@ »E, C, B, A E C DAB

68. Match List- with pst.qy .

List - | '}&Mﬂ Lol ! List - II %Dn‘_;%ﬂw

A.  Channelization pmtncol . ALOHA
c Randﬂm-&ccesgmo] Reservation
D. CuntmIled.-é s

. d-access profoc IV. HDLC Uiuy lewdved

(i Choose the ¢ mm-.cl: aﬁﬂ&rm options given below :
#O  ALBM, VD) %'-n, BIV,CL DAL et
p(s) A-IV, BIII, CII, DA y i -n.w, c1,®-1)

! 69. For line draw
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cpu Vo ERHRILS !

. For the regular languagoes and context free languages which is not correct ?
A, both are closed under union operation “Y -

both are closed under concatenation operation

both are closed under inm&"ﬁon Operation = o
both are closed under comple

both are closed under kleen star ope'ratimT e G

Choose the most Appropriate answer from the options Biyén below :

(1) AandBO ' l

QO nly  (2) Bandcom}ru@yuﬁdjow @ s N T

\

itation opera

mon s

72.  The number of tokens in the following line ;

f9r i in range (begin ; end : step) :.
is :

(1) 4 (2 7 @ 8 Vm/u

73.  The sequence of steps for a page replacement algorithnjtﬁji}l be: -\ EO
find a frame that is not currently being used /L Hwed
change the page table 0 0

use freed frame
no frame is free

free a frame

Choose the correct answer from the options given below :

A DA EBO ), EBACD @ BEADC @ @E,B,A,@

1 LELO

Monw®p

v

74. Match List-I with List-II :

List - I List- 11 (0

A. Back Tracking L Automata) |

B.  Infinite languages with II.  Undecidal LT blem
matching numbers N

C. Canonical LR Parser [IL Predicﬁva;.@ser’

D. Post Correspondence Problem IV. Large number of states
Choose the correct answer from the options given below : -
(1) A-L BI, C-II, DIV (2) A BV, CI, D-II

(3) A-IV, BIIL C-II, DI u@// AL, B, orv@

Y 22




]

J - Lk WG ’ 'l&"ra

M%O\W MMM# MM npum.d;w
e qlincati o

75. Which of the following 18 not correct about the virtual memory segmentation 7
o(1) Itis not necessary to lt‘g_j" of the segments of a process. T

& 2 It has no internal fragmentation. T F‘b‘- AlA .g-ri ,HM*
m It has large virtual address space.T" 84 (ceakpy an tll“'“' lagl ) waad mamory
"It prov Addes lower dl‘g’l‘&? of mullipmwwmg"r b W l

C) Mmumﬂ AeQvee of MAM‘"M, 'imf’n") Sep

26, Match List-I with List-II :
Lisl 1|

List - 1
| "Recursive Descent Parser

A—aBla aeT, A BeV )
A—BC|a, aeT, A, B, CeV II. Turing Machine

LL (1) grammar [1I. “Choamsky Normal Form
IV. Finite Automate

0O m >

D. Halting problem
Choose the correct answer from the options given below :

\_%/i-w, B-IL, C-L, D-II (2) A, B, CIL, DIV
(3) A-IL B-IV, C-III, D-I (4) AV, B0, CIL, D

77. Multlple Inheritance is permitted directly m, %
A
2 B. Java lo

L. (Bytho D. “*VpNEr Jo
£ BASIC {Utsual bosit) ?; 5

Choose the most appropriate answer from the gpncms given below :

(}5 (A%nd B Only v@/@}ndcm}w -3y, B and D Only ao A, C and E Only

in correct order, so that they can follow a proper
B. Compilation ™
o

D. Type of variable * 'IC

73, Arrange the following run time environment :
A. Programming statement T

C. Memory allocation ‘g,

E. Memory deallocation@”/
Choose the correct answer from the options below :
D,C ) B,A D,CE [i)’ C,D,BEA

1) C,D,E ﬂ’@

79. Which of the following genetic algorithm oq@on is computationally most expensive ?
(1) Convergence testing -~
() Initial population creation ki

(3) Selection of sub-population for mating
next genefatmn

\‘(é}/ Reproduction o prOd“O"
23 087




| . - St 5 ¢ I8 ibadle 0 o -
bheasl ' i, ’ ﬁ/{}\ f{) KJ
sn. Which of the followings are true for Complete binary tree 7 '
A Ithas always odd fumber Of vertices, ol

B With; internal vertim. it has i +1 leaves, ohue = PH ?
; With 1 leaves it has [ - I=1 vertices, bf‘F Q.[—-I)W'w 2y :
. Wiﬂ\i’n lverﬂces,lthasnleaves"[' ; Qo Berrdishin o
t Q-m-e the n b U1 il
correct answer from the options given below : .. Bl 153,
D7 ARCoy @ poon 9 o U ABED S

81. How much time does ap : : : : ; _
gorithm 2% if each bit operation takes
' 2738 second of time ? using 2° bit operam need if e

(1) 1 hour (2) 10 minutes (3) 30 minutes (4) 1.5 hour

82. Which of thefol.lowmgstatemants is/are false ?
A, Ausercanasslgnpnvllegeatoanyuseronanyrelahon r

B. A usercan assign privileges to any user on its own hom@ -
C. System error that leads to accessibility to the portio atabase is an example of malicious

attack. |
D. Passwordﬂ@-need to be secured from unauthori access. ’r JPmG
Gmoseﬂ:emtmwerfrommeophons gtvmbelowm o
(1) Aand C Only ‘}\/AandBO:ﬂy 3) Band DGnly - (4) B and C Only
* Jo
TR 4y
83. Lower-triangular spame matrix is one : m&,, 0 ' J
(1) in which all the non-zero elements Jje only on the leadlngdmgoml ' st
(2)  in which all the non-zero elements lie above leadmg d.lagonal

(3) in whlch all the mm-zero elements lie below leadlrlg dJa nuf[’ ol

r“ﬁ';){l:‘ ‘;f

wm‘UmA R h‘
ge in appropnate order, the consh-uéuon of’z a ﬁmte%ata*" |

é . &l

(4)  which is not deﬁned for Bparse matrix.




MaRttva) oM S8 Rasdil® Uk tianes 1 LSENE O;}i » : Zﬁ/\ﬁ :
b\g‘égﬁ ‘ ¢ 1 LB"' %‘ ofch

@Bﬂ. WMCthH\EfDHWMS:amMEhrBNMthMME? A kd y
A. It has always odd number of vertices. oM

9 - o ll.{,.j h"l
B With i internal vertices, it has i + 1 leaves. J"u' P e 9 "
C. " With / leaves it has [ <1 vertices, o Q A1) verbity fottp 1
"Efl With 2n -1 vertices, it has n leaves. N ' % “ :qg:'l ':Q)
¢ Choose the correct answer from the options .gi\'en below : =’ Dlamt 153y
3 J)J D -
) ABCOny B, C Only (3 ADOnly _@4 ABC .
W7 o ol 3

Ho% much time does an algorithm using 2% bit operations need if each bit operation take,
; 27 second of time ? ;

(1) 1 hour (2) 10 minutes (3) 30 minutes 15 hogr: . g
tayh “{M
Tofaltiot - po. of bipagestion ¥ "o 57
82. Which of the following statements is/ are false ? - ),T‘; -z,ﬁ’z: 9 .

A. A user can assign Privileges to any user on any relation. r": b o74

@ A user can assign Privileges to any user on jts own tions@ F

& :.Zrtit:l?-. erf::?r that leads to accessibility to the purﬁm@htabase is an example of malicious

D. Password@eed to be secured from umuﬂtoﬂz%ﬂtess. -~ Bt mﬁ

Choose the correct answer from the options given below N & J

C Onl
o Aand)' y &)(Aandi&ﬂy (3’, B__andi.q;ﬂy ), Bmdgonf;t\;*
; clamalnys | 5O rC
" 83. Lower-triangular Sparse matrix is one : W ‘4':_,0 Ld'fC:-f"‘H'f 2

A
(1)  in which all the noq-zero elements Iiegmmthe leading diagonal. 2 1 999
(3)  in which all the non-zero elements lie above leading diagonal, 2 l{ 2
\?)  in which all the non-zero elements lie below leading diagonal. ? ¢4
(4)  which is not defined for sparse matrix. Co | 000¢

e
¥o  84. Arrange in appropriate order, the construction of a fkjﬁ%ta

A.  Minimum State DFA B.  Regular ExpreaalN ,
C. NFA-e D.  Problem Statement |
E.: “DFA | A W .—kf, fi

o (:"::IQ

l'rﬁ

4 ADCBE
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hofﬂ-.efouowgiﬂnutﬂnl

85 real time scheduling Policy, 'memﬁm ) e m—— H O {J
g responds to external terrypy, A
@ wwdt‘ﬂ special “"“‘”quenunl files. ¢
4/@)}/ rovides fixed or varjzp), Sized pnrlifmn ﬁ\/{f?'nldﬂ
a bi E;. T Cacy !
7 * F‘l

A 2 (@) a3 v +
& o 4 (4) 5 a7
- b
jatch List-I1 with List-IT e I ‘I ¢ 0—3. { vadl tpe U—"c ‘
. M aANY

- L3 A A.’
ﬁ, Llst - I Liﬁt - II & &rl
level-2
" RAID leve "M?"" ¥ hlnck-inler]eaved
level-3
5 RAID leve 1L CITor-correcting-code
14
C RAID level-4 IIL. reed-solomon codes
% .RAID level-6 v,

blt-lnterleaved bt iE
aw&e the correct answer erHf’ﬂm Options g:\Qﬁselow uj_&w
'8
m AL B GIEDHE 62 (A é}-l. D-I11
o AV, BL CIL Dap u&‘)/ B-% v, 6)
¢ amange the following examples of Artificial e (AD) in the order of increasing complexity :
8

A. Spam email detection using rule-based systems. sy ovdun Mﬁﬂzcﬁ
p. Handwritten digit recognition using shallow neural networks. .l —b_m;l fL.a,{G, qj
C. Image classification using convolutional nal neural networks,

@ Whahsthetotaldelay{latermy)furaﬁamesmﬂf?ﬂnuﬂmnbﬂsﬁmtmmsetupmahnkmm
20 routers, each having a queuing time of 2 us dndia processing time of 1 s ? The length of link
5000 km. Thespeedofhghtnﬁideﬂlﬁhnki&%m}s The link has bandwidth of 6 Mbps.

(1) 0624050 s, ~(42) .53“1726 s ';(3)-\1425030 s, &) 1714030 s,
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\ﬁo. The following code ' K‘N ¢ ;Q
stmt — if expr then stmt else stmt e W Mol
l;xfexpr then stmt g,.g gal{-

suffers from :

A-moves
J H‘, Ambiguity w Left factoring  (3) Left Recurssion (‘)L
\zl. The parameter Actual count is used in Genetic Algarill‘uﬂ (GA) for :
lffp Crossover (2) Mutation 6,.1_
u‘@/ Selecting population (ﬁ) Encoding the Genetic Algorithm
tes, tl'l%lber of
92. For making a memory of size 2048 x 8 bytes, by using the chips of size 128 x4 bytes
L‘\J chips required is : kdl[n‘ix&?;
m 8 @ 16 S 32 (4) Tl
93. Which of the following is not the most common property in social network ? W; ,GE

(1) Degree distribution follows scale free.~{’
(2) Average shortest path lengths are shorten in ¢orihected network.
Most of them are directed network. On

“Q‘kr Follows small world property. . tentm'® @ too
SR NS

%. Shift-Reduce conflicts are resolved by : ~J
(1) Left recurssion ~ (2)  Left factoring

e, Ambiguity - 2 Associativity and Precedence

m‘lQ”

¥t

2% Regarding the subroutines, see the following sequence of tasks to be performed :
A.  Turn on the interrupt facility on. \

B.  Service the device whose flag is set. o0

x < Save the contents of processor registers. (@3
D. Check which flag is set. (@)
—

E. Restore the contents of processorregmgm
sChooaethecorrectanswerf:omtheoptmmgu?&;
(i 2 = 'y Ny il r LYy B
ygf ADCBE (ﬁ) D_,.A'?.-CE {;l C..QBE,A (4) BDACE

T

i

08!

J..,f L




Viatch List-1 with List-II -

%91 List -1

Union List - 11
: Function L. Virtual Reality .
. : : itk s 8 ¥
c Interactive Environmep, Shadow magk '\{(.hnﬁ(ﬂ?ﬂl @mﬂuu uHo
- Output device ; I, Stbroutine | Yo4fe oy (.Q-T

e . ¢ defined A

Chmlw Do drg:;fr“n1 the oplions piven lt ‘I R e

A-137 B-Il1, C-1/D-11 : elow
Y oL, BV, G, DI @ @D, B, ¢,

) ' A B cw'@ ~ U
4 » LV, DA ¥

which of the followings are S€quential circyjt 7
cuit ;

" L 1 s il
9. Hipflop+’ B N N L Loy
_ pecoder & ultiplexer C. Counten_- Jip fﬁ&p
: - Adder ; L0k ‘m
jose the correct answer from g, : ol
Che € Options given below M < (o

g, D Only \};/
\\LN/ % A COnly @) CEony @ Daony (Leds

r)

n Gﬂ‘gﬁc Algﬂl'ithm’s Cross over Operation hta

gg, skisusedin?
% ee parent c
A | TR ApsEemer ) (2) (Two parent crossover

\JWUnifunn crossover (4) ‘*Npomt CIOSSOVer §o A
g9, Ammange the following sets mrd;;::én the basis of their cardinality :
LN, AL B B A= 6w *
c. A=H{L234564) L D. A={{L2, {234, 6)>
£ A=l 2 BLELB) o T &>F
Choose the correct answer from the options given below '
0 ABDEC (9 ABEDC () ACDBE ERRDS | gn
Q0
1 q:)*.’hich of the followings are tautology ? % -
v o) 3y PR S (o) |
L
Z mP-}(P-)r} D E{j-‘\f]—’(P")r) 0/
E ~[p= l') el s o
om the options given below :
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or, then f(2K
i Pusilive integer, the f )=
K 18

ﬁ i 2 . I‘I1 1r‘.‘
101) If f(n) =5f(n/2) +3 and f(1)=7 is a recurrence relation i
{']].l 5K (31/4) 3/4 (2) L [3"],4}
() 2K (31/4)-3/4 @) 2€(29/4)

5
i ) et !
Angs are corre

102. For the soltware ;]u‘;hu- assurance, which ol the h‘”"“""?‘ .

A.  Execution of code

B i\l‘k“\l‘\lllln'll of code
Preventive |vghni.|uv__ ,
D. A corrective technique

t_‘hl-‘k‘."‘!{" ll'iL‘ correct answer frt‘l‘n |I~“| “[-}ti_nn_\. k:i\,'{‘n h’t“l”“" :

: (4) D A Only
(1) A B UTI!} {2} B.C Unl}' J},.} LoD OI'li_\-' >

+ recurrence relation ¢,
103. Match List - I with List - IL. f(n)=af(n/b) + g(n) is a divide-and-conquer recutTe .

the Listed-I algorithms, match their recurrence in Listed-1I.

List - I List - II
Divide-and-conquer based algorithms Recurrence Relation
A. Binary Search L f(n)=7 f(n/2)+15 n?/4
B.  Find maximum and minimum of a sequence . f)=2f(n/2)+n
C. Merge Sort OL  f(n)=2f(n/2)+2
D.  Fast Matrix Multiplication IV. f(n)=f(n/2)+2

Choose the correct answer from the options given below :

(1)  A-l, B-II, C-III, D-IV (2) A-II, B-IIL, C-IV, D-I

((3)  A-III, B-IV, C-I, D-II J’*)’ A-lV, B~Ill,_1

]@-'Which of the followings sequence {a,} are“fthe solution of recurrence relatio
a,=ba,

Al =1 B. a,=2" C. a, =4"
D. a=n4t ! E. a =(-4)

Choose the most appropriate answer from the options given below -

(1) ABCOnly () BCDOnly (3 C DOnly (4) C D,E Only

Y 28 (114




instructions
e
'105' ﬁDD Ry A’;
gLXRrR2  CGw y |
bjaluams the X=(A+B)*(C+ D) in'which of the fnllnwinH ?

: : ;
3 - Address ‘mstruc‘hom (2) - 2 - Address instructions AAN/
1 - Address instructiong

) : r‘fﬁ) RISC instructions
which tl{_&; fl;H“WfﬂHI l'-‘ilhut the goat éf reverse Engineering 7
1115"”11 (’fﬁ fh m;mp exity: 72(2) Recover lost information~
Ay petect side effect 4 Data flow
" ‘-krfﬂltﬂt‘ t]‘lE. following SO that they can be placed in perf_ectfappropriate order,
107 A p]anrlllﬂﬂ B.  Construction
I C. Modeltng D.  Communication
g Deployruet
Choose the correct answer fr,, the dptions given below :
9 AB,CDE DPACHBE @ ADBCE 4), B.CD.AE
—
08. Match List-I with List-It . N
T e ~ List - II
A, Batch Mulﬁprogramn\jng B L allows more efficient use of main memory
p, Time sharing I userno longer has direct access to the processor
Cc. Monitor II.  Maximize processor use
D. Reentrant Procedures IV. minimize response time
Choose the correct answer from the options given below -
(1) AL BIL CIV, D Jo AL, B-IV, C-II, D-I

() AL BILCIV, D O‘G‘@) AT BL CIV, D g

110. The order of steps of Address in Linux Virtual Memory Scheme will be -

A.  register B_\aﬁset [WM) C. Page directory
D.  Page table E.  Page middle directory
Chm&eﬂlemrrectammver&omtheopﬁomgiven below :

M BADEC' @y CED,B D,C A B, E

o A .J;)/ A, ()3’) A, (4) C A DEB

Y 29

: iy _' i
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Glooseﬂ\emﬂedmbumd\eopmgivm%)
\Q‘?/A-WEONY Y@ A, Cand-POnly
{% D, E and B Only o

| I
112. Whatiaapemepu-onm_;w? ;-‘"‘Q’*":W MMW
(1) A double layer auto-associative neural network. ‘g;t m
(2) A neural network that contains feedback.
3) Anauto-amoda&vemuralmk.}a
y A single layer feed-forward neural network mﬂ&e-pmm&

W functions. Arrange followiy

an Unly

113. A least integer n such that f(x) is O(x") for each of
according to the value of n in increasing order :
A.  f(x)=32>+(log x)* ()b\b) B. (x)-(xw+1)/(:3+1) O [*n")
C. f(x)=E+x2+1)/(x2+1) 0(7\) D. f(»= (zh-dog:)/(rz+1) 0(1)
Choose the correct answer from the options given -

M) DCAB () DCBA ‘miEQ&D 4 BACD




n~21—
the followin
ng® : deIe Eaphs based on number of 4
1% [Complete Graph with 5 Sl s g Spanning tree they have : 4~ 23
' h [Complete Graph with 4 - ‘ () ﬂ 4' = 4—
Ks 2 (COII'IP[E'E blparﬁte nOdea]' / .\ - l L
& Efm of the 2 nodes-in each partiti %
Cs (Cycle graph of 5 g o 1 partition)
P e e e from @".Pqi;stiom given bel @ Q
,BCD s g
§ %g R AcDs @ D.BCA 2 5‘5'1—
jeast values of a signed and | e | e
unﬁgned data type var - (:
116- 0, 128 .. M 313 'I Pe variables requiring 8 8 bits, would be..... ol
o - 0 5127 B) 00 \_‘é& ~128, 0 =
List-1 with List-17 . bdr’ W“’jcfﬁﬁ' g
. Wi ' 5 it
' List - I :
List - 11 1,&5
Line coding scheme B . Cj”
i andwidth (average) . A
A. N = B=N/4 bd" "z v\’lg/ro
p. 2B1Q CH. B=N/g @
D-PAM 5 &
e T
p. MLT-3 . B=N/2
Choose the correct answer from tions giy low ¢

@ Al B-L GV, - 00 &) (A1v n,c-l@

(3) B“I'hc“n' @ (4) A-IL B-IV, C-1I, D1

0 g b
118. The hmguag§ of the following PDA would be : %e_a‘ a _& @ £ @

8(qy & z) = (Qo aaazy)

8(q 2 2)=(qp- aaaa) . a W
8(gy b 2)=(q. N) M~
8(a b, 8)=(qy M) N

8(qy. € )= (qp Zg), where g is afinal state.
(1) {a""|n>0} Vl "b% () [a“b3“|n>0] () {a"b*"|n>0)

119. Acomputer systemmthcachemhmeoflﬂﬂm,amnmmmyaccesshmenf’llmm, and
‘/?rahoofﬂ'? then average access time would be :

) 200 ns @ 190;_;.5 (3) 210ns (4) 1zu'ns
Y | o l8oxoqéolxlleo



R —— :
>

e
'
. X i.s .
120. The instruction LD ADR(X) which is equivalent to AC € M[ADR -I-)G:l]
Direct Addressing Mode d2) Indirect Addressing Mode i
M3)  Index Addressing Mode ld) [mmediate Addressing Mo
. ' C
1121. Wh!f_‘h of the fnllowings are White box T(!Bliﬂs ? 1_» p % - %
A7 Path Testing B. Loop Testing
ool Rvgrt‘&‘iint\ ']'t‘sliﬂ[{ D. Non h’_hl:ﬂﬂl'lﬂl Tesﬁng
‘%.‘hm‘rse the correct answer from the options given below : X gsdD Only
\/ﬂ’f A and B Only (?‘59 Band COnly (3 Cand DOnly ()
: : i for
122. IP is fesponsible for communication. while TCP is resPonmblel !._-———-__’
communication. M ; (orang It O O

(1) Node-to-node, Host-to-host vd( Process-to-process, Host-to-host
(3) Socket-to-socket, Host-to-node | (4)~ Host-to-Host, Process-to-process

123. According to the Nyquist theorem, to produice the original analog signal, one necessa® comaiii

15 2
‘bf{} Sampling rate must be at least 2 times the highest frequency contained in the signal.
(2) Sampling rate must be at least 2 times the hw%f“[requency contained in the signal.

(3) Sampling rate must be at least % times the l'ligixest frequency contained in the signal.

| (o
(4) Sampling rate must be at least 1 times the loﬁés'ﬁﬁéqumq contained in the signal.
A QO
124. For the following Parents in figure (1) and (2) :
Parenty 10110 + 010 :
Parent, |- 10101 : 111
Age L) QK"::rf.:é;s over points R
Parent; | 10110 | 11 : P~
Parent, 10101 ; 010 A
figure (2) (D
Which is correct ? e T
(1) figure (2) is the two point crossover of figure (’@0

figure (2) is one point crossover of figure (1)
(3) figure (2) is N'point crossover of figure (1)
(4) figure (2) is uniform crossover of figure (1)



wch List-I with List.jy ;

A TS Ror
hﬂ‘!"

d is :
Provided with s Own register context,
"}t'fplmna given below .

QO 2 A B-11I, a1, pop M

CT““’H‘ the correct answoep [mm
g AVBILCIV, D

A-IV, B-IIL C-1, Dy j
\)},’ - — (4) A-ll, B, C-Iv, D11 .
U.»-{SF

% i “mw:iﬁ:heduling, which of the fo

llowing opti
(1 4 non-real-time Priorities & Option is correct ?

(2) 8 non-real-time priorities

— Lﬂ}"' 16 non-real-time priorities

be the orde
O“‘hﬁt will Z’_\M&ﬁm‘m fields in a frame relay ‘frame format’ ?

o) 12 non-real-time priorities

A Fieg B BCS > C. address D. information
Choose the correct answer from ¢, tions given below :
n AGDB (2 D, A4, i GBAD & @) ABDC

126, What will be the ordering of typical steps when processing a.high-level query ?

A. Query optimizer B. Runtime database processor
C. Scanning, PaSSihg and validating D. Query code generator
Choose the correct answer from thﬁ_gptions given below :

) D,ACB (3)@ C,A,p,d B CDBA (& BCBA

o
129. Which of the following 1s/are u'uemase of M TN-*P\L‘"‘"""P
Ls No Cycle

A. It ensures shorter waiting ti

B. Itensures freedom from deaW
C. Transaction can lock data items earlier.
D. It does not ensure greater amount of concurrency.

below :
ﬁomﬂaeophmsﬂ"’“
Gmseﬂwcunectm £h B DUBIY \)/BandCOnly jﬂ A and D Only

Y o 33

A Thread spawn 1

B' BIOCI!( ﬂ‘ll‘Eﬂd II. i In"voﬂ a blllrking gy,qh_lrn call into a ””nhrth'kinﬂ call.
c Jacketing m laim page

3 Flush v COROF (UM to the exer ution of anather ready thread,

087



A, user-to-user B, user-to-network C.
D, hmt-tn-neh-vork E.  user-to-host

Choose the correet answer from the options given below : 4) D and E Only
(1) Aand B Opyy @ BandConly! Py candDoOnly (#)
y (\

‘ o : tains at least t,
131. A bit String of length four is generated at random. What is probability that it con 1
consecutive 0's given that first bitis 07 .\
L™
L
5

1
: B -
® 3% & 5 .

132. Match List - I with List - IL.

(1)

P |

List - | List - I1 X0 2
Complement I.  Adder
Ex-OR IL  Instruction decod;
nstruc on decoding \yo UKo

Accumulator : Negal:ive@umher representation
Control Unit IV.  Arithmetic and Logic operations ~
Choose the correct answer from the oph'ong; given below :

A1) AL B, cm, pury ®(2), B-II, L, DIV
%) (AYBI, cav, ppp p® LAV, BII, Clit, Doy

133. Back propagation is a learning technique that adjusts weights in the neural network by propagating
S weight changes : : Fim

(1) Forward from source to hidden nodes A
+(2) Backward from sink to source Sl H Lauvee
(3) Forward from source to sink s : :
\_[,G)/ Backward from sink to hidden nndes‘__

i R R

N
134. Match List-I with List-IT : N
' List - [ -List - 11

A.  Verification | + ((White box Testing
B.  Validation m/:l L.{Black box Testing
C.  Internal logic exerci IL{YQuality Contro]

D.  Software requirement exercise IV, Quality Assurance
ose the correct answer from the options given below :

) AV, B, CL D1 12 AL B, CI, DIy
) A1V, BIIL CII, D. - @ AL BV, LDy

X 34 . ng7



B

T —
Fof the fuzzy set A:{(xl U.&'L p ‘
sente
u (x5, 0.4)), the complement of A would be rEprenet

195 5
R ((x1r 04) (3 0.3), (4, 01 o1y I

f"/ ((en O7) (33 03), () 0.6)) o@D ((4,03), 3, 07), (3, 0.4)
‘f;" A (Y 0.21), (x5, 0.28), (xy, 0.12))
136- which ©f - Markiﬁhn
HTML B Janguage ?
A -~ g, CO
I choose the correct answey A C. DHTML D. LML E. PML
o BCPOoNy ) Ptions given below
r *POnly (3 AcpEony @ A, B, C Only

/h
lean expre. 7 "—F\-—-—_‘
The Boo Pression for the ¢
7. oll
W A BO=302,6 i v

d[‘d“B C)=x(1, 3, 5) . ‘

|
[Tal , h C. E)L
C'+BC 2 N
)1%‘ (} B"'Aq__ (3)’& A+BC’ “,J'*T A’ +BC’
10 ! |

38. w}ud‘ of foﬂnmng have t.ruﬂ'l % if H «[——lSC
1 i . - .
e o (rf<at) SRR T P Do e oLl
- dnm (n<
C. EnEIm {n1+m‘2=5} (n<m?) -7

D. 3InIm (n2+m?2=6)
. 3n3m(m+n=4,\n_m=n

Choose the correct answer from the options given below :

Ul
O
139. Forthe given two machines which of the following is correct ? % a0 b
S S
_ | - # S
9. B L a*a, b¥'b0‘ OLb ¥ b*"b o oo
b : o0 : = ‘5) o o2 P x
E& 7 bo\*al)
087




140 Arrange the following prefix expressions based on their values in increasing Drder_:

A, +-%2/8437 ‘ EBJ—T**33'425 \ W
C F-T82188 e s Y by «+343 134113 g, B°
Choose the correct answer from the optigns given below :

C,DJA’B

(1) ABGCD E)/B,A,CFDQ”. 3 DCBA @&

: ®
Answer the following 5 questions based on the passage. (141-145)

A firm can produce two type of cloth say A and B. Three kind of wool are required e Sa)c; B
wool, green wool and bjye wool. One unit length of type A cloth needs 2 yards of red and 3 yards of
green wool. One unit length of type B cloth needs 3 yards of red wool, 2 yards of green wool and 2 yards
blue wpol.. The firm has of ¥:a stock of 8 yards of red wool, 10 yards of éreen wool and 15 yede o s
wool. [It is assumed that the income obtained from one unit length of type A and type B cloths are ¥ 30

and .50, respectively.
B br 8

141. On the basis of available material, maximum total income is : $: o 1§
(1) T 133.3 b(2)  €q24 ™™ 3 T100 (4) R 1533

L4 2
-,

type A cloths and y ur[i‘fléngth of type B cloths, then contrains formulate for the

i.—"-“

142. If x unit length of

LPP,i5:
(1) y=7.5, 2x+3y=8, 3y+2x<10 \ﬁ X [ % )r'lg
0(2) =75, 2x+3y=<8, 3x+2y=<10 \* 3¢

V@/ 2x +3y=8, 3x+ 2y +2z<15
(4) 20+3y=10, 3x+2y<10, 2y<15

143. Which of the following will be appropriate-objectives function for the given problem ?
(1) 2x+3y ; @N 3x+2y+2z

B 30x+50y % 3x+2y

19 -

144. When we formulate the LPP from the am given passage. Which of the following is a objective

function for its dual problem ? :
)7 Min P=8u+100+15w

v (1) Min P=5u+8v+15w
%(3) Min P=15u+50+8w, . (4 Max P=10u+8v+15w

145. How many unit length used for cloth A when income is maximized ?

(1) 0.8 unit (2) 24 unit 43 2.8 unit (4) 3.0 unit

- 36 087




»e any is imple Sed o,
cz;faini tablesp fo?::m A ney, & tt:: Passage. (146-15)
base ata Se
g5 )‘I“llﬁple Qe Ao e“m—i’ﬂffm Pl‘Odu}t::Gm Y0 manage its customer information. The
fic sales IeprepeRhvEs Whg san Contai;l‘;‘;:l—lt_i‘ i;‘[“d ples, Tepresentatives, Fach customer can
#:::;ing sales;and Customer il’ltE A g the ACCOU | 2; prasuc Each order is associated with a
in \-.E,Ona € database is designed to improve efficiency

whish SQL query retrieveg yf ¢

ﬂ;/ st COUNT (s 20 b distinet custome
(2}:, Select COUNT (*) As tgél_l-."'rtolnor__id) Ak mm‘r'r;t:;m
(3) Jo Select COUNT (DIST;[NCT“ Stomers from customerg;

- Bilag Order_jd) A |
d) Select COUNT (Distyyey C'U.sl'g-l ) As total
mer_jd)

s who have placed orders ?

'rs From orders:

~Customers from orders;
As totnl_cuslr}merﬁ from customers;

vhich of the following best i
W7, ~stomers” table j i g
Custo e in the OMmpany’s dagy, ¢ relationship between the “orders” table and the

as
&12 One-fo-One J}Y ﬁ e system ?

ne-to-M
any ._WMany—to-One (ﬂb Many-to-Many

;ﬂ.‘é.ey referencing another table in the database
1 Customers ﬂ . vt
] ‘g’) Products (4) Sales representatives

o0
149. Which SQL query retrieves the mm
r-."

er of OFders placed by a specific customer ?
vﬁl) Select COUNT (*) As total_orders

from orders where customer id= [Customer_IDJ;
o(2) Select COUNT (order_id) As total_orders from orders where customer_id = [Customer_ID];

7(,(3) Select COUl\{T (DISTINCT order_id) As total_orders from orders Where
customer_id = [Customer_ID];

‘(})/ Select SUM! (order _,[d) As total_orders from orders where customer_id = [Customer_ID];

150. Based on the passage, which ENIG following statements is true ?

P
(1) Each customer can plac y one order. »
Each sales representati manage multiple customer accounts.

(3) Each order can be assogiated with only one product. )2
(4) The database does not include a table for productsp

’_L tg.-'j-*‘o

-00o0-




